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1) If by selling an article for Rs. 390 a shopkeeper gains 

20%, then the cost price is 

a) Rs. 350  b) Rs. 325 

c) Rs. 300  d) Rs. 370 

 

2) A man sold 250 chairs and had a gain equal to selling 

price of 50 chairs. His profit per cent is : 

a) 50%       b) 25% c) 15%      d) 20% 

 

3) Last year Mr. A bought two paintings. This year he 

sold them for Rs. 20,000 each. On one, he made a 25% 

profit and on the other he had a 25% loss. Then his net 

profit or loss is 

a) He earned more than Rs. 2000 

b) He lost less than Rs. 2000 

c) He earned less than Rs. 2000 

d) He lost more than Rs. 2000 

 

4) Profit after selling a commodity for 524 is the same 

as loss after selling it for 452. The cost price of the 

commodity is 

a) 488  b) 500 

c) 485  d) 480 

 

5) A merchant sold an article for 75 at a profit percent 

equal to its cost price. The cost price of the article was 

: 

a) 54     b) 50  c) 60        d) 45 

 

6) On selling 17 balls at 720, there is a loss equal to the 

cost price of 5 balls. The cost price (in) of a ball is 

a) 55      b) 50  c) 60     d) 45 

 

7) An article is sold at a certain price. If it is sold at half 

of the previous selling price, then there is a loss of 25 
1

2
 

% . The profit after selling the article at the previous 

selling price is: 

a) 12 
3

4
 %  b) 49% 

c) 24 
1

2
 %  d) 51% 

8) A clock was sold for 144. If the percentage of profit 

was numerically equal to the cost price, the cost of the 

clock was 

a) 90    b) 80        c) 100  d) 72 

 

9) By selling 1 dozen ball pens, a shopkeeper earned 

the profit equal to the selling price of 4 ball pens. His 

profit per cent is 

a) 33 
1

3
 % b) 40% 

c) 31 
1

4
 % d) 50% 

 

10) The loss incurred on selling 21 articles equals the 

selling price of 3 articles. Then the loss per cent is 

a) 12 
1

2
 %  b) 10% 

c) 11 
1

9
 %  d) 9 

1

11
 % 

 

11) By selling 144 hens Mahesh suffered a loss equal to 

the selling price of 6 hens. His loss per cent is 

a) 9%  b) 3% 

c) 4 
1

2
 %  d) 4% 

 

12) A vendor loses the selling price of 4 oranges on 

selling 36 oranges. His loss per cent is 

a) 10%  b) 9% 

c) 11 
1

2
 % d) 12 

1

2
 % 

 

13) If the cost price of 28 articles is equal to the sale 

price of 21 articles, then the percentage of profit is : 

a) 20%  b) 33 
1

3
 % 

c) 22%  d) 12% 

 

14) If the profit on selling an article for 425 is the same 

as the loss on selling it for 355, then the cost price of 

the article is 

a) 390  b) 380 

c) 400  d) 370 
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15) If the profit per cent got on selling an article is 

numerically equal to its cost price in rupees and the 

selling price is 39, then cost price (in ) will be 

a) 28      b) 22  c) 30        d) 20 

 

16) Loss of 20% on selling price is equal to x% loss on 

cost price. What is the value of x ? 

a) 16 
2

3
   b) 20 

c) 16  d) 22 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


